FoiERET

PRODUCT DESCRIPTION

P120 EA B E &Rk =R

P130 i — AL R &R

BLRHE: BFIMENE, WERHER. RESHN MABE: BFSEEN. IMgE. SONm.
B, R, $RTLE, REZ., TWRERZSE. Bl ER,

MESEE: -1~700BAR, MEEE: -1~1000BAR,

MEFEE: 0.5%FS. 0.25%FS. 0.1%FS, MEFEE: 0.5%FS. 0.25%FS. 0.1%FS,

EEAR: M20*1.5, M16*1.5. G1/2, G1/4. 1/4ANPT EEAR: M20*1.5, M16*1.5, G1/2, G1/4. 1/4ANPT

£ (IJEH) . £ (IJEH) .
e E: 10-30VDC e BE: 10-30VDCEL5Y,
BMH{ES: 4-20MA, 0-5V, 0-10V. . 1-10V&, BWHES: 4-20MA, 0-5V. 0-10V. 1-10V&,

P140 T BHIERIEE EHERSE P150 B4 B E S 1E=%=S

S210-10 YR B HIREE RS

BRHE: BHEB. DX, ki, KB, £4
M. BEE. BRIE. TEREE. SEEREE
RARSH:

MER AR FEE %R PTI00. PT1000 [2BZ+0.6
°C, BZ+0.3°C. A%+0.15°C, AAZ=0.1°C] . NTCH
SR (100K, 10K, 5K, 1K) %

RSB : -50~260°C,

FIPEER: AEWPTRE

ZEAR: BEASEAL

MABE: : BTFHIMakIl. ahXAS. Gl BRHE: BFSIPRZ. AEZENEN . BR%EHT
. BHFEE. BRBEBRIERE. EERIMENIE . &WEHTI. BEBEERE,

MESEE: -1~700BAR, MEEE: -1~700BAR,

MEFEE: 0.5%FS. 0.25%FS. 0.1%FS, MEFEE: 0.5%FS. 0.25%FS. 0.1%FS,

EEAR: M20"1.5, 1/4NPTES (T1E4) . EEAN: MEENERE. FESS

HEEE: 10-30VDC HEEBE: 10-30VDC

WHES: 4-20MA, 0-5V, 0-10V. 1-5V, 1-10V, WHES: 4-20MA, 0-5V, 0-10V. 1-5V, 1-10V.
RS485, RS485,

14/PAGE

T180 wihiRL BAR BB R EER=R

F"FﬁiﬁA' BFmAEE. BE. MEkhE, IR=EY
IS, KB REBETRE. ZEE,

BRARSH:

MBTAERER: TR (-200, +600°C) . EA (-200,

+1000°C) . J& (-200, +1200°C) . N#& (-200,

+1300°C) . KA (-200, +1370°C) .

RSB : -200~1000°C,

EEAN: Bl IRNRE.

T170 REREW AR BB EEER=R

NMAFE: BTFEXTUEEEEWE. &XE\REF
HUE. SRISEERA.,

RARSH:

MBrMER: TR (-200, +600°C) . EE (-200,
+1000°C) . J& (-200, +1200°C) . N#& (-200,
+1300°C) . KA (-200, +1370°C) .

MESERE : -200~600°C,

EEAN: WAAZENBELUTIEE.

S490 X EKE B A HIRE &R

MABHE: HVACKEE. FTIE,

BRARSH:

B THFER: EXPTI0O0. EXPTI000. W
PT100, XN3ZPT1000, NTCARBEES,

FEEERR: 2B%+0.6°C, BZ=0.3°C. AZ=+0.15°C. AA
F+01°C, NTCRE (£1%) .

MESEE : -70~300°C, REAN: Bl BN LE
M10*1, M16*1.5. G1/4. G1/2. M20*1.5 (T[HRERE
B .

TIXBRO[E: 4-20MA, 0-5V, 0-10V. 1-5V. 1-10V.

RE. PAGE/15



	封面q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11

